Project: Mt. Whitney Ave. Road Reconstruction and Shoulder Improvements

Contract No.: 25-06-C

<u>Bidders</u>		Yarbs Grading and Paving, Inc. Av			truction, Inc.	Granite Construction Company		Cal Valley Construction, Inc.		Agee Construction Corporation					
2 3 4 5 6 7 8 9						Subcontractors Fresno Concrete CVE Demolition Trinity Engineering Lat APCO Safety Network Chrisp Company Pavement Recycling S All Steel Fence Inc Floyd Johnston Constr	poratories	Subcontractors Pavement Recycling S Haydon Construction Valley Fence Co Chrisp Company Pacwest Construction	systems	Subcontractors All Steel Fence, Inc. Pavement Recycling S Specialized Pavement Statewide Traffic Safet AWP Safety Pacwest Construction	Marking, LLC y and Signs, Inc. dba	Subcontractors Fresno Concrete Const., Inc. CVE Demolition, Inc. Chrisp Company AWP Safety All Steel Fence, Inc. Pavement Recycling Systems, Inc. C3 Electric, Inc.		Subcontractors All Steel Fence, Inc Fresno Concrete Construction, Inc. Specialized Pavement Marking AWP Safety C3 Electric, Inc. Pavement Recycling Systems, Inc	
BASE	BID ITEMS	T	T	Engineer'	s Estimate	1	<u> </u>	2	2	3	l	4		5	,
ITEM NO.	QUANTITY	UNIT OF MEASURE	ITEM DESCRIPTION	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)
1	100,000	\$	SUPPLEMENTAL WORK (PAYMENT ADJUSTMENTS FOR PRICE INDEX FLUCTUATIONS)	\$ 1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00
2	1	LS	DUST CONTROL PLAN	\$ 5,000.00	\$5,000.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$400.00	\$400.00	\$600.00	\$600.00	\$600.00	\$600.00
3	1	LS	LEAD COMPLIANCE PLAN	\$ 1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$1,500.00	\$1,500.00	\$3,300.00	\$3,300.00	\$2,800.00	\$2,800.00	\$2,500.00	\$2,500.00
4	8	EA	REMOVE BOLLARD	\$ 900.00	\$7,200.00	\$130.00	\$1,040.00	\$300.00	\$2,400.00	\$120.00	\$960.00	\$100.00	\$800.00	\$135.00	\$1,080.00
5	1	LS	CONSTRUCTION AREA SIGNS	\$ 6,000.00	\$6,000.00	\$9,000.00	\$9,000.00	\$15,000.00	\$15,000.00	\$10,900.00	\$10,900.00	\$10,900.00	\$10,900.00	\$15,000.00	\$15,000.00
6	2	EA	CONSTRUCTION PROJECT FUNDING SIGN	\$ 3,000.00	\$6,000.00	\$3,200.00	\$6,400.00	\$2,500.00	\$5,000.00	\$1,630.00	\$3,260.00	\$1,630.00	\$3,260.00	\$2,000.00	\$4,000.00
7	1	LS	TRAFFIC CONTROL SYSTEM	\$ 500,000.00	\$500,000.00	\$208,000.00	\$208,000.00	\$210,000.00	\$210,000.00	\$142,000.00	\$142,000.00	\$490,000.00	\$490,000.00	\$371,000.00	\$371,000.00
8	1	LS	JOB SITE MANAGEMENT	\$ 20,000.00	\$20,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$7,000.00	\$7,000.00	\$5,000.00	\$5,000.00
9	1,000	\$	SWRCB NOTICE OF INTENT FILING FEE	\$ 1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00
10	1	LS	PREPARE AND IMPLEMENT STORM WATER POLLUTION PREVENTION PLAN	\$ 5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$1,700.00	\$1,700.00	\$4,000.00	\$4,000.00
11	1	LS	STORM WATER ANNUAL REPORT	\$ 3,800.00	\$3,800.00	\$2,500.00	\$2,500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00
12	1,782	SQFT	REMOVE CONCRETE	\$ 6.50	\$11,583.00	\$3.00	\$5,346.00	\$4.00	\$7,128.00	\$6.00	\$10,692.00	\$6.00	\$10,692.00	\$4.50	\$8,019.00
13	1,119	LF	REMOVE CONCRETE (CURB AND GUTTER)	\$ 18.00	\$20,142.00	\$15.00	\$16,785.00	\$20.00	\$22,380.00	\$15.00	\$16,785.00	\$14.00	\$15,666.00	\$10.50	\$11,749.50
14	1	LS	CLEARING AND GRUBBING (LS)	\$ 20,000.00	\$20,000.00	\$98,000.00	\$98,000.00	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00	\$325,000.00	\$325,000.00	\$100,000.00	\$100,000.00
15	25	EA	REMOVE TREE	\$ 1,000.00	\$25,000.00	\$850.00	\$21,250.00	\$1,000.00	\$25,000.00	\$784.00	\$19,600.00	\$785.00	\$19,625.00	\$875.00	\$21,875.00
16	7,605	CY	ROADWAY EXCAVATION - Final Pay Item	\$ 22.00	\$167,310.00	\$30.00	\$228,150.00	\$28.00	\$212,940.00	\$30.00	\$228,150.00	\$16.00	\$121,680.00	\$36.00	\$273,780.00

2	1	LS	DUST CONTROL PLAN	\$	5,000.00	\$5,000.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$400.00	\$400.00	\$600.00	\$600.00	\$600.00	\$600.00
3	1	LS	LEAD COMPLIANCE PLAN	\$	1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$1,500.00	\$1,500.00	\$3,300.00	\$3,300.00	\$2,800.00	\$2,800.00	\$2,500.00	\$2,500.00
4	8	EA	REMOVE BOLLARD	\$	900.00	\$7,200.00	\$130.00	\$1,040.00	\$300.00	\$2,400.00	\$120.00	\$960.00	\$100.00	\$800.00	\$135.00	\$1,080.00
5	1	LS	CONSTRUCTION AREA SIGNS	\$	6,000.00	\$6,000.00	\$9,000.00	\$9,000.00	\$15,000.00	\$15,000.00	\$10,900.00	\$10,900.00	\$10,900.00	\$10,900.00	\$15,000.00	\$15,000.00
6	2	EA	CONSTRUCTION PROJECT FUNDING SIGN	\$	3,000.00	\$6,000.00	\$3,200.00	\$6,400.00	\$2,500.00	\$5,000.00	\$1,630.00	\$3,260.00	\$1,630.00	\$3,260.00	\$2,000.00	\$4,000.00
7	1	LS	TRAFFIC CONTROL SYSTEM	\$ 50	00,000.00	\$500,000.00	\$208,000.00	\$208,000.00	\$210,000.00	\$210,000.00	\$142,000.00	\$142,000.00	\$490,000.00	\$490,000.00	\$371,000.00	\$371,000.00
8	1	LS	JOB SITE MANAGEMENT	\$ 2	20,000.00	\$20,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$7,000.00	\$7,000.00	\$5,000.00	\$5,000.00
9	1,000	\$	SWRCB NOTICE OF INTENT FILING FEE	\$	1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00
10	1	LS	PREPARE AND IMPLEMENT STORM WATER POLLUTION PREVENTION PLAN	\$	5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$1,700.00	\$1,700.00	\$4,000.00	\$4,000.00
11	1	LS	STORM WATER ANNUAL REPORT	\$	3,800.00	\$3,800.00	\$2,500.00	\$2,500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00
12	1,782	SQFT	REMOVE CONCRETE	\$	6.50	\$11,583.00	\$3.00	\$5,346.00	\$4.00	\$7,128.00	\$6.00	\$10,692.00	\$6.00	\$10,692.00	\$4.50	\$8,019.00
13	1,119	LF	REMOVE CONCRETE (CURB AND GUTTER)	\$	18.00	\$20,142.00	\$15.00	\$16,785.00	\$20.00	\$22,380.00	\$15.00	\$16,785.00	\$14.00	\$15,666.00	\$10.50	\$11,749.50
14	1	LS	CLEARING AND GRUBBING (LS)	\$ 2	20,000.00	\$20,000.00	\$98,000.00	\$98,000.00	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00	\$325,000.00	\$325,000.00	\$100,000.00	\$100,000.00
15	25	EA	REMOVE TREE	\$	1,000.00	\$25,000.00	\$850.00	\$21,250.00	\$1,000.00	\$25,000.00	\$784.00	\$19,600.00	\$785.00	\$19,625.00	\$875.00	\$21,875.00
16	7,605	CY	ROADWAY EXCAVATION - Final Pay Item	\$	22.00	\$167,310.00	\$30.00	\$228,150.00	\$28.00	\$212,940.00	\$30.00	\$228,150.00	\$16.00	\$121,680.00	\$36.00	\$273,780.00
17	15,290	CY	BASIN EXCAVATION - Final Pay Item	\$	25.00	\$382,250.00	\$7.50	\$114,675.00	\$16.00	\$244,640.00	\$15.00	\$229,350.00	\$13.00	\$198,770.00	\$22.00	\$336,380.00
18	1	LS	FINISHING ROADWAY	\$ 1	0,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$10,000.00	\$10,000.00	\$35,000.00	\$35,000.00	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00
19	205	CY	SHOULDER BACKING - Final Pay Item	\$	40.00	\$8,200.00	\$110.00	\$22,550.00	\$80.00	\$16,400.00	\$100.00	\$20,500.00	\$82.00	\$16,810.00	\$120.00	\$24,600.00
20	47	CY	CLASS 2 AGGREGATE BASE (CY) - Final Pay Item	\$	120.00	\$5,640.00	\$95.00	\$4,465.00	\$170.00	\$7,990.00	\$350.00	\$16,450.00	\$175.00	\$8,225.00	\$350.00	\$16,450.00
21	44,880	SQYD	1.10-FOOT FULL DEPTH RECLAMATION WITH CEMENT (FDR-C) - Final Pay Item	\$	20.00	\$897,600.00	\$15.00	\$673,200.00	\$13.00	\$583,440.00	\$15.50	\$695,640.00	\$11.00	\$493,680.00	\$14.60	\$655,248.00
22	1	LBS	INCREASE OR DECREASE IN CEMENT FOR FDR-C METHOD	\$	0.15	\$0.15	\$0.10	\$0.10	\$0.10	\$0.10	\$0.09	\$0.09	\$0.09	\$0.09	\$0.10	\$0.10
23	16,718	TON	HOT MIX ASPHALT (TYPE A)	\$	115.00	\$1,922,570.00	\$95.00	\$1,588,210.00	\$110.00	\$1,838,980.00	\$95.00	\$1,588,210.00	\$96.00	\$1,604,928.00	\$95.00	\$1,588,210.00
24	187	TON	MINOR HOT MIX ASPHALT	\$	350.00	\$65,450.00	\$90.00	\$16,830.00	\$170.00	\$31,790.00	\$175.00	\$32,725.00	\$225.00	\$42,075.00	\$95.00	\$17,765.00
25	852	LF	PLACE HOT MIX ASPHALT DIKE (TYPE E)	\$	15.00	\$12,780.00	\$10.00	\$8,520.00	\$17.00	\$14,484.00	\$15.00	\$12,780.00	\$9.00	\$7,668.00	\$11.00	\$9,372.00
26	1,290	SQYD	PLACE HOT MIX ASPHALT (MISCELLANEOUS AREA)	\$	78.00	\$100,620.00	\$15.00	\$19,350.00	\$17.00	\$21,930.00	\$38.00	\$49,020.00	\$32.00	\$41,280.00	\$15.00	\$19,350.00

BASE	BID ITEMS			Engineer'	s Estimate	1		2	!	3	3	4	ı	5	
ITEM NO.	QUANTITY	UNIT OF MEASURE	ITEM DESCRIPTION	M PRICE FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)								
27	61	CY	REMOVE BASE AND SURFACING	\$ 13.00	\$793.00	\$100.00	\$6,100.00	\$250.00	\$15,250.00	\$260.00	\$15,860.00	\$140.00	\$8,540.00	\$100.00	\$6,100.00
28	85	SQYD	GRIND EXIST CONCRETE PAVEMENT	\$ 100.00	\$8,500.00	\$37.00	\$3,145.00	\$50.00	\$4,250.00	\$44.00	\$3,740.00	\$15.00	\$1,275.00	\$100.00	\$8,500.00
29	60	LF	8" REINFORCED CONCRETE PIPE (CLASS III)	\$ 200.00	\$12,000.00	\$88.00	\$5,280.00	\$150.00	\$9,000.00	\$160.00	\$9,600.00	\$150.00	\$9,000.00	\$75.00	\$4,500.00
30	55	LF	10" REINFORCED CONCRETE PIPE (CLASS III)	\$ 350.00	\$19,250.00	\$97.00	\$5,335.00	\$160.00	\$8,800.00	\$112.00	\$6,160.00	\$155.00	\$8,525.00	\$180.00	\$9,900.00
31	387	LF	15" REINFORCED CONCRETE PIPE (CLASS III, RUBBER GASKET JOINT)	\$ 175.00	\$67,725.00	\$100.00	\$38,700.00	\$175.00	\$67,725.00	\$185.00	\$71,595.00	\$168.00	\$65,016.00	\$170.00	\$65,790.00
32	1,180	LF	18" REINFORCED CONCRETE PIPE (CLASS III, RUBBER GASKET JOINT)	\$ 200.00	\$236,000.00	\$108.00	\$127,440.00	\$130.00	\$153,400.00	\$147.00	\$173,460.00	\$177.00	\$208,860.00	\$105.00	\$123,900.00
33	910	LF	24" REINFORCED CONCRETE PIPE (CLASS III, RUBBER GASKET JOINT)	\$ 215.00	\$195,650.00	\$132.00	\$120,120.00	\$155.00	\$141,050.00	\$180.00	\$163,800.00	\$188.00	\$171,080.00	\$120.00	\$109,200.00
34	769	LF	30" REINFORCED CONCRETE PIPE (CLASS III, RUBBER GASKET JOINT)	\$ 300.00	\$230,700.00	\$178.00	\$136,882.00	\$210.00	\$161,490.00	\$215.00	\$165,335.00	\$215.00	\$165,335.00	\$150.00	\$115,350.00
35	1	EA	ALTERATIVE FLARED END SECTION	\$ 700.00	\$700.00	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00	\$2,700.00	\$2,700.00	\$1,200.00	\$1,200.00	\$3,000.00	\$3,000.00
36	1	EA	30" ALTERNATIVE FLARED END SECTION	\$ 1,670.50	\$1,670.50	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$3,400.00	\$3,400.00	\$3,900.00	\$3,900.00	\$6,500.00	\$6,500.00
37	13	EA	60" MANHOLE (TYPE A)	\$ 7,500.00	\$97,500.00	\$11,800.00	\$153,400.00	\$15,000.00	\$195,000.00	\$15,000.00	\$195,000.00	\$12,000.00	\$156,000.00	\$15,000.00	\$195,000.00
38	1	EA	AREA DRAIN	\$ 6,000.00	\$6,000.00	\$1,480.00	\$1,480.00	\$4,000.00	\$4,000.00	\$8,000.00	\$8,000.00	\$2,900.00	\$2,900.00	\$8,500.00	\$8,500.00
39	8	EA	INLET (TYPE D)	\$ 6,000.00	\$48,000.00	\$7,300.00	\$58,400.00	\$9,000.00	\$72,000.00	\$13,000.00	\$104,000.00	\$9,300.00	\$74,400.00	\$10,000.00	\$80,000.00
40	2	EA	INLET (TYPE E) WITH SLOTTED GRATE	\$ 6,000.00	\$12,000.00	\$4,100.00	\$8,200.00	\$3,700.00	\$7,400.00	\$8,200.00	\$16,400.00	\$9,300.00	\$18,600.00	\$7,500.00	\$15,000.00
41	19	EA	ADJUST FRAME AND COVER TO GRADE	\$ 1,000.00	\$19,000.00	\$1,800.00	\$34,200.00	\$1,500.00	\$28,500.00	\$1,450.00	\$27,550.00	\$2,100.00	\$39,900.00	\$1,200.00	\$22,800.00
42	722	LF	REMOVE PIPE	\$ 50.00	\$36,100.00	\$46.00	\$33,212.00	\$70.00	\$50,540.00	\$80.00	\$57,760.00	\$30.00	\$21,660.00	\$35.00	\$25,270.00
43	13	EA	REMOVE INLET	\$ 1,810.00	\$23,530.00	\$1,300.00	\$16,900.00	\$5,500.00	\$71,500.00	\$800.00	\$10,400.00	\$1,500.00	\$19,500.00	\$1,200.00	\$15,600.00
44	10	EA	ADJUST MANHOLE TO GRADE	\$ 2,000.00	\$20,000.00	\$1,800.00	\$18,000.00	\$2,000.00	\$20,000.00	\$2,400.00	\$24,000.00	\$2,100.00	\$21,000.00	\$1,500.00	\$15,000.00
45	113	LF	MINOR CONCRETE (CURB) (LF)	\$ 100.00	\$11,300.00	\$40.00	\$4,520.00	\$40.00	\$4,520.00	\$62.00	\$7,006.00	\$43.00	\$4,859.00	\$58.00	\$6,554.00
46	213	SQFT	DETECTABLE WARNING SURFACE	\$ 51.00	\$10,863.00	\$39.00	\$8,307.00	\$40.00	\$8,520.00	\$41.00	\$8,733.00	\$39.00	\$8,307.00	\$43.00	\$9,159.00
47	1,107	LF	MINOR CONCRETE (CURB AND GUTTER)	\$ 65.00	\$71,955.00	\$43.00	\$47,601.00	\$55.00	\$60,885.00	\$65.00	\$71,955.00	\$42.00	\$46,494.00	\$54.00	\$59,778.00
48	525	SQFT	MINOR CONCRETE (VALLEY GUTTER)	\$ 20.00	\$10,500.00	\$20.00	\$10,500.00	\$23.00	\$12,075.00	\$22.00	\$11,550.00	\$23.00	\$12,075.00	\$30.00	\$15,750.00
49	333	SQFT	MINOR CONCRETE (SIDEWALK)	\$ 25.00	\$8,325.00	\$10.00	\$3,330.00	\$13.00	\$4,329.00	\$19.00	\$6,327.00	\$15.00	\$4,995.00	\$15.00	\$4,995.00
50	572	SQFT	MINOR CONCRETE (CURB RAMP)	\$ 22.00	\$12,584.00	\$12.00	\$6,864.00	\$15.00	\$8,580.00	\$38.00	\$21,736.00	\$15.00	\$8,580.00	\$21.00	\$12,012.00
51	1,260	LF	CHAIN LINK FENCE (TYPE CL-6)	\$ 25.00	\$31,500.00	\$25.00	\$31,500.00	\$45.00	\$56,700.00	\$24.79	\$31,235.40	\$44.00	\$55,440.00	\$28.00	\$35,280.00
52	2	EA	10' CHAIN LINK GATE (TYPE CL-6)	\$ 2,000.00	\$4,000.00	\$5,400.00	\$10,800.00	\$1,600.00	\$3,200.00	\$5,370.00	\$10,740.00	\$2,500.00	\$5,000.00	\$5,500.00	\$11,000.00
53	1,085	LF	REMOVE FENCE	\$ 8.50	\$9,222.50	\$4.00	\$4,340.00	\$7.00	\$7,595.00	\$3.50	\$3,797.50	\$3.50	\$3,797.50	\$4.00	\$4,340.00
54	500	EA	PAVEMENT MARKER (RETROREFLECTIVE)	\$ 5.00	\$2,500.00	\$5.00	\$2,500.00	\$5.50	\$2,750.00	\$5.00	\$2,500.00	\$5.00	\$2,500.00	\$6.00	\$3,000.00
55	8	EA	OBJECT MARKER (TYPE L-1)	\$ 130.00	\$1,040.00	\$150.00	\$1,200.00	\$160.00	\$1,280.00	\$120.00	\$960.00	\$140.00	\$1,120.00	\$150.00	\$1,200.00
56	1	EA	SALVAGE ROADSIDE SIGN	\$ 250.00	\$250.00	\$500.00	\$500.00	\$200.00	\$200.00	\$500.00	\$500.00	\$260.00	\$260.00	\$270.00	\$270.00
57	15	EA	ROADSIDE SIGN - ONE POST	\$ 300.00	\$4,500.00	\$700.00	\$10,500.00	\$750.00	\$11,250.00	\$550.00	\$8,250.00	\$450.00	\$6,750.00	\$475.00	\$7,125.00
58	44	LF	THERMOPLASTIC TRAFFIC STRIPE (DETAIL 21)	\$ 1.50	\$66.00	\$3.00	\$132.00	\$3.00	\$132.00	\$2.00	\$88.00	\$3.00	\$132.00	\$2.05	\$90.20
59	5,109	LF	THERMOPLASTIC TRAFFIC STRIPE (DETAIL 22)	\$ 1.50	\$7,663.50	\$4.00	\$20,436.00	\$4.00	\$20,436.00	\$3.00	\$15,327.00	\$4.00	\$20,436.00	\$3.05	\$15,582.45
60	7,036	LF	THERMOPLASTIC TRAFFIC STRIPE (DETAIL 27B)	\$ 1.50	\$10,554.00	\$1.00	\$7,036.00	\$1.00	\$7,036.00	\$1.00	\$7,036.00	\$1.00	\$7,036.00	\$1.10	\$7,739.60
61	952	LF	THERMOPLASTIC TRAFFIC STRIPE (DETAIL 29)	\$ 1.50	\$1,428.00	\$5.00	\$4,760.00	\$5.00	\$4,760.00	\$4.00	\$3,808.00	\$5.00	\$4,760.00	\$4.10	\$3,903.20
62	3,504	LF	THERMOPLASTIC TRAFFIC STRIPE (DETAIL 32)	\$ 1.50	\$5,256.00	\$5.00	\$17,520.00	\$5.00	\$17,520.00	\$4.00	\$14,016.00	\$5.00	\$17,520.00	\$4.10	\$14,366.40
63	535	LF	THERMOPLASTIC TRAFFIC STRIPE (DETAIL 38)	\$ 1.50	\$802.50	\$2.00	\$1,070.00	\$2.00	\$1,070.00	\$2.00	\$1,070.00	\$2.00	\$1,070.00	\$2.10	\$1,123.50
64	171	SQFT	THERMOPLASTIC PAVEMENT MARKING (LIMIT LINE)	\$ 10.00	\$1,710.00	\$8.00	\$1,368.00	\$9.00	\$1,539.00	\$8.00	\$1,368.00	\$8.00	\$1,368.00	\$8.10	\$1,385.10

BASE	BID ITEMS			Engineer's Estimate		1		2		3		4		ţ	5
ITEM NO.	QUANTITY	UNIT OF MEASURE	ITEM DESCRIPTION	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)										
65	480	SQFT	THERMOPLASTIC PAVEMENT MARKING (TYPE IV ARROW)	\$ 10.00	\$4,800.00	\$10.00	\$4,800.00	\$11.00	\$5,280.00	\$8.00	\$3,840.00	\$10.00	\$4,800.00	\$8.10	\$3,888.00
66	236	SQFT	THERMOPLASTIC PAVEMENT MARKING (ENHANCED WET NIGHT VISIBILITY)	\$ 10.00	\$2,360.00	\$12.00	\$2,832.00	\$12.00	\$2,832.00	\$10.00	\$2,360.00	\$12.00	\$2,832.00	\$11.00	\$2,596.00
67	918	SQFT	THERMOPLASTIC CROSSWALK AND PAVEMENT MARKING	\$ 10.00	\$9,180.00	\$8.00	\$7,344.00	\$9.00	\$8,262.00	\$8.00	\$7,344.00	\$8.00	\$7,344.00	\$8.10	\$7,435.80
68	12,219	LF	PAINT TRAFFIC STRIPE (2-COAT) (DETAIL 39)	\$ 1.50	\$18,328.50	\$0.75	\$9,164.25	\$0.75	\$9,164.25	\$0.50	\$6,109.50	\$0.75	\$9,164.25	\$0.60	\$7,331.40
69	1,367	LF	PAINT TRAFFIC STRIPE (2-COAT) (DETAIL 39A)	\$ 1.50	\$2,050.50	\$0.75	\$1,025.25	\$0.75	\$1,025.25	\$0.50	\$683.50	\$0.75	\$1,025.25	\$0.55	\$751.85
70	77	SQFT	PAINT PAVEMENT MARKING (2-COAT) (BIKE LANE ARROW)	\$ 6.00	\$462.00	\$8.00	\$616.00	\$9.00	\$693.00	\$10.00	\$770.00	\$8.00	\$616.00	\$11.00	\$847.00
71	154	SQFT	PAINT PAVEMENT MARKING (2-COAT) (BIKE LANE SYMBOL WITH PERSON)	\$ 6.00	\$924.00	\$8.00	\$1,232.00	\$9.00	\$1,386.00	\$10.00	\$1,540.00	\$8.00	\$1,232.00	\$11.00	\$1,694.00
72	40	SQFT	PAINT CURB RED (2-COAT)	\$ 15.00	\$600.00	\$5.00	\$200.00	\$5.00	\$200.00	\$25.00	\$1,000.00	\$5.00	\$200.00	\$26.00	\$1,040.00
73	792	SQFT	THERMOPLASTIC CROSSWALK AND PAVEMENT MARKING (ENHANCED WET NIGHT VISIBILITY)	\$ 10.00	\$7,920.00	\$10.00	\$7,920.00	\$11.00	\$8,712.00	\$10.00	\$7,920.00	\$10.00	\$7,920.00	\$11.00	\$8,712.00
74	396	SQFT	REMOVE PAVEMENT MARKING	\$ 15.00	\$5,940.00	\$13.00	\$5,148.00	\$14.00	\$5,544.00	\$20.00	\$7,920.00	\$13.00	\$5,148.00	\$21.00	\$8,316.00
75	1	LS	MOBILIZATION	\$ 549,835.00	\$549,835.00	\$473,000.00	\$473,000.00	\$200,000.00	\$200,000.00	\$500,000.00	\$500,000.00	\$470,000.00	\$470,000.00	\$500,000.90	\$500,000.90
76	35	TON	TACK COAT	\$ 1,500.00	\$52,500.00	\$1,000.00	\$35,000.00	\$1,500.00	\$52,500.00	\$425.00	\$14,875.00	\$1.00	\$35.00	\$1.00	\$35.00
77	3,300	LF	TEMPORARY TRENCH RESURFACING – STORM DRAIN	\$ 17.00	\$56,100.00	\$17.00	\$56,100.00	\$30.00	\$99,000.00	\$10.00	\$33,000.00	\$2.00	\$6,600.00	\$25.00	\$82,500.00
		TOTAL BA	SE BID ITEMS (ITEMS 1-77)	\$6,256,783.15		\$4,737,230.60		\$5,061,882.60		\$5,149,346.99		\$5,272,266.09		\$5,273,190.00	

Additi	itive 1 Engineer's Estimate			's Estimate	1		2	2	3	3		4	5	i	
ITEM NO.	ESTIMATED QUANTITY	UNIT OF MEASURE	ITEM DESCRIPTION	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)										
78	887	SQFT	REMOVE CONCRETE	\$ 13.00	\$11,531.00	\$3.00	\$2,661.00	\$3.50	\$3,104.50	\$4.00	\$3,548.00	\$5.00	\$4,435.00	\$4.00	\$3,548.00
79	232	LF	REMOVE CONCRETE (CURB AND GUTTER)	\$ 18.00	\$4,176.00	\$9.00	\$2,088.00	\$16.00	\$3,712.00	\$17.00	\$3,944.00	\$16.00	\$3,712.00	\$11.00	\$2,552.00
80	90	LF	PLACE HMA 0.5 FEET THICK X 1 FOOT WIDE	\$ 50.00	\$4,500.00	\$20.00	\$1,800.00	\$13.00	\$1,170.00	\$30.00	\$2,700.00	\$55.00	\$4,950.00	\$30.00	\$2,700.00
81	38	SQFT	DETECTABLE WARNING SURFACE	\$ 51.00	\$1,938.00	\$37.00	\$1,406.00	\$40.00	\$1,520.00	\$32.00	\$1,216.00	\$37.00	\$1,406.00	\$40.00	\$1,520.00
82	178	LF	MINOR CONCRETE (CURB AND GUTTER)	\$ 83.00	\$14,774.00	\$53.00	\$9,434.00	\$53.00	\$9,434.00	\$59.00	\$10,502.00	\$53.00	\$9,434.00	\$60.00	\$10,680.00
83	494	SQFT	MINOR CONCRETE (VALLEY GUTTER)	\$ 20.00	\$9,880.00	\$20.00	\$9,880.00	\$20.00	\$9,880.00	\$19.00	\$9,386.00	\$20.00	\$9,880.00	\$26.00	\$12,844.00
84	1,080	SQFT	MINOR CONCRETE (SIDEWALK)	\$ 25.00	\$27,000.00	\$9.00	\$9,720.00	\$10.00	\$10,800.00	\$12.00	\$12,960.00	\$9.00	\$9,720.00	\$11.00	\$11,880.00
85	165	SQFT	MINOR CONCRETE (CURB RAMP)	\$ 30.00	\$4,950.00	\$15.00	\$2,475.00	\$18.00	\$2,970.00	\$36.00	\$5,940.00	\$15.00	\$2,475.00	\$30.00	\$4,950.00
86	35	SQFT	THERMOPLASTIC PAVEMENT MARKING (LIMIT LINE)	\$ 10.00	\$350.00	\$8.00	\$280.00	\$8.00	\$280.00	\$20.00	\$700.00	\$8.00	\$280.00	\$21.00	\$735.00
87	1	LS	REMOVE FLASHING BEACON	\$ 10,000.00	\$10,000.00	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$5,900.00	\$5,900.00	\$6,000.00	\$6,000.00
88	1	LS	TRAFFIC SIGNAL AND LIGHTING (HAWK)	\$ 270,000.00	\$270,000.00	\$240,000.00	\$240,000.00	\$285,000.00	\$285,000.00	\$283,000.00	\$283,000.00	\$223,000.00	\$223,000.00	\$225,000.00	\$225,000.00
89	4	EA	ROAD SIGN - ONE POST	\$ 300.00	\$1,200.00	\$700.00	\$2,800.00	\$700.00	\$2,800.00	\$650.00	\$2,600.00	\$715.00	\$2,860.00	\$725.00	\$2,900.00
90	1	LS	MODIFY EXISTING LANDSCAPING AND IRRIGATION	\$ 5,000.00	\$5,000.00	\$9,000.00	\$9,000.00	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$6,000.00	\$6,000.00
91	1	LS	MOBILIZATION	\$ 38,015.00	\$38,015.00	\$29,000.00	\$29,000.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
92	1	LS	FEDERAL TRAINEE PROGRAM	\$ 800.00	\$800.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1.00	\$1.00	\$1,200.00	\$1,200.00	\$500.00	\$500.00
	•	TOTAL A	ADDITIVE 1 (ITEMS 78-92)	\$404	,114.00	\$325,0	044.00	\$338,1	70.50	\$347,9	997.00	\$291,	752.00	\$301,8	09.00

TOTAL BASE BID + ADDITIVE 1 (BID ITEMS 1 THROUGH 92)	\$6,660,897.15	\$5,062,274.60	\$5,400,053.10	\$5,497,343.99	\$5,564,018.09	\$5,574,999.00

Bid Opening: 11/06/25

Scheduled Award Date: 12/09/25

Project: Mt. Whitney Ave. Road Reconstruction and Shoulder Improvements

Contract No.: 25-06-C

Katch Environmental, Inc. dba Katch Bidders Archer Civil Construction LLC MAC General Engineering, Inc. Terra West Construction Incorporated American Paving Co. General 1 Yarbs Grading and Paving, Inc., 11339 S. Peach Avenue, Fresno CA 93725 Subcontractors Subcontractors Subcontractors Subcontractors Subcontractors 2 Avison Construction, Inc., 40434 Brickyard Dr. Madera, CA 93636 APCO Dike Chrisp Company Safety Network, Inc. C3 Electric, Inc. Tully Consulting Group 3 Granite Construction Company, 2716 S Granite Ct, Fresno, CA 93706 Safety Network California Commercial Fence Chrisp Company Kroeker Inc. Anrak Corporation 4 Cal Valley Construction, Inc., 5125 N Gates Avenue #102, Fresno, CA 93722 Pavement Recycling Systems, Inc. Jack Benigno Tree Service Pavement Recycling Systems, Inc. All Steel Fence, Inc. Griffin Soil LLC 5 Agee Construction Corporation, 1039 Hoblitt Avenue, Clovis, CA 93612 Triple Crown Fence Pavement Recycling Systems CVF Demolition Pavement Recycling Systems, Inc. Specialty Paving Inc dba AC Dike Co 6 Archer Civil Construction LLC, 1353 S J St, Tulare, CA 93274 Chrisp Company Safety Network All Steel Fence, Inc. AWP Safety Fresno Fence Connection 7 MAC General Engineering, Inc., 638 Industrial Drive, Exeter, CA 93221 C3 Flectric Specialized Pavement Markings Fresno Concrete Construction, Inc. Specialized Pavement Marking Soto Brothers 8 Terra West Construction Incorporated, 1030 Gettysburg Ave Ste 107, Clovis, CA 9 Superior Ag Construction C3 Electric Chrisp Company 9 American Paving Co., 525 W. Alluvial Avenue, Fresno, CA 93711 C3 Flectric Haydon Construction, Inc. Standard Emulsions Co 10 Katch Environmental, Inc. dba Katch General, 929 L Street, Fresno, CA 93721 BASE BID ITEMS ITEM PRICE TOTAL PRICE ITEM UNIT OF ITEM DESCRIPTION QUANTITY NO. MEASURE (IN FIGURES) SUPPLEMENTAL WORK (PAYMENT ADJUSTMENTS 100,000 \$1.00 \$100,000.00 \$1.00 \$100,000.00 \$1.00 \$100,000.00 \$1.00 \$100,000.00 \$1.00 \$100,000.00 FOR PRICE INDEX FLUCTUATIONS) LS DUST CONTROL PLAN \$1,500.00 \$1,500.00 \$547.70 \$547.70 \$8,000.90 \$8,000.90 \$500.00 \$500.00 \$196,964.00 \$196,964.00 LS LEAD COMPLIANCE PLAN \$1.500.00 \$1.500.00 \$1.533.60 \$1.533.60 \$3,000.00 \$3,000.00 \$1.800.00 \$1.800.00 \$1.500.00 \$1,500,00 EΑ \$100.00 \$800.00 \$257.00 \$2.056.00 \$150.00 \$1,200,00 \$120.00 \$960.00 \$550.29 \$4,402,32 REMOVE BOLLARD LS CONSTRUCTION AREA SIGNS \$8.850.00 \$8.850.00 \$9.694.30 \$9.694.30 \$9,000.00 \$9,000.00 \$10.900.00 \$10.900.00 \$7.500.00 \$7.500.00 2 EΑ CONSTRUCTION PROJECT FUNDING SIGN \$3,192,50 \$6,385.00 \$3,497.10 \$6.994.20 \$3,500.00 \$7,000.00 \$1,600.00 \$3,200.00 \$5,000.00 \$10,000.00 LS \$318,321.00 \$318,321.00 \$155,912.60 \$155,912.60 \$540,000.00 \$540,000.00 \$300,000.00 \$300,000.00 \$485,198.00 \$485,198.00 TRAFFIC CONTROL SYSTEM 1 LS JOB SITE MANAGEMENT \$6,750.00 \$6,750.00 \$137,150.30 \$137,150.30 \$15,000.00 \$15,000.00 \$484.500.00 \$484.500.00 \$125,000.00 \$125,000.00 9 1,000 SWRCB NOTICE OF INTENT FILING FEE \$1.00 \$1,000.00 \$1.00 \$1,000.00 \$1.00 \$1,000.00 \$1.00 \$1,000.00 \$1.00 \$1,000.00 \$ PREPARE AND IMPLEMENT STORM WATER \$80,000.00 10 LS \$5,000.00 \$5,000.00 \$3,012.40 \$3,012.40 \$2,000.00 \$2,000.00 \$80,000.00 \$25,000.00 \$25,000.00 POLLUTION PREVENTION PLAN 11 STORM WATER ANNUAL REPORT \$2,500.00 \$2,500.00 \$547.70 \$547.70 \$500.00 \$500.00 \$600.00 \$600.00 \$1.500.00 \$1,500,00 12 \$9.15 \$2.20 \$3,920.40 \$5,346.00 \$2.30 \$4,098.6 \$16,804.26 1,782 SQFT REMOVE CONCRETE \$16,305.30 \$3.00 \$9.43 13 \$6.50 1,119 LF REMOVE CONCRETE (CURB AND GUTTER) \$11.66 \$13.047.54 \$6.60 \$7,385,40 \$10.00 \$11,190,00 \$7,273,50 \$15.99 \$17,892.81 14 1 LS CLEARING AND GRUBBING (LS) \$12,179.00 \$12,179.00 \$35,128.80 \$35,128.80 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$17,893.44 \$17,893.44 15 25 EΑ REMOVE TREE \$801.23 \$20,030,75 \$471.10 \$11,777.50 \$900.00 \$22,500,00 \$780.00 \$19.500.00 \$533.05 \$13.326.25 16 7,605 CY ROADWAY EXCAVATION - Final Pay Item \$20.80 \$158,184.00 \$31.30 \$238,036.50 \$50.00 \$380,250.00 \$55.00 \$418,275.00 \$31.71 \$241,154.55 17 15.290 CY BASIN EXCAVATION - Final Pay Item \$6.95 \$106.265.50 \$12.20 \$186.538.00 \$22.00 \$336,380,00 \$15.00 \$229,350.00 \$12.93 \$197,699,70 18 1 LS FINISHING ROADWAY \$30.820.00 \$30.820.00 \$24,612.90 \$24,612.90 \$20,000.00 \$20,000.00 \$20,000,00 \$20,000,00 \$19,950.56 \$19,950.56 19 CY SHOULDER BACKING - Final Pay Item \$69.29 \$14,204,45 \$111.30 \$22,816,50 \$73.00 \$14 965 00 \$160.00 \$32,800,00 \$219.81 \$45.061.05 205 20 47 \$348.16 \$16,363,52 \$173.90 \$8,173,30 \$245.00 \$11.515.00 \$150.00 \$7.050.00 \$511.31 \$24.031.57 CY CLASS 2 AGGREGATE BASE (CY) - Final Pay Item 1.10-FOOT FULL DEPTH RECLAMATION WITH 21 44,880 SQYD \$15.63 \$701,474.40 \$17.00 \$762,960.00 \$13.00 \$583,440.00 \$16.20 \$727,056.00 \$14.66 \$657,940.80 CEMENT (FDR-C) - Final Pay Item INCREASE OR DECREASE IN CEMENT FOR FDR-C 22 \$0.09 \$0.09 \$0.09 \$0.09 \$0.10 \$0.10 \$0.09 \$0.09 \$0.15 \$0.15 METHOD 23 16.718 TON HOT MIX ASPHALT (TYPE A) \$111.16 \$1.858.372.88 \$119.40 \$1,996,129,20 \$105.00 \$1,755,390,00 \$107.00 \$1,788,826,00 \$97.40 \$1,628,333,20 \$39.531.80 \$288.00 \$83.32 24 187 TON MINOR HOT MIX ASPHALT \$238.42 \$44.584.54 \$211.40 \$53.856.00 \$130.00 \$24.310.00 \$15.580.84 25 852 PLACE HOT MIX ASPHALT DIKE (TYPE E) \$18.08 \$15,404.10 \$22.80 \$19,425.60 \$16.00 \$13,632.00 \$16.00 \$13,632.00 \$21.00 \$17,892.00 PLACE HOT MIX ASPHALT (MISCELLANEOUS 26 1.290 SQYD \$52.88 \$68,215,20 \$35.70 \$46.053.00 \$14.00 \$18.060.00 \$59.00 \$76,110.00 \$191.31 \$246,789,90

BASE	BID ITEMS				3		7	8	3	9	9	1	0
ITEM NO.	QUANTITY	UNIT OF MEASURE	ITEM DESCRIPTION	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)								
27	61	CY	REMOVE BASE AND SURFACING	\$99.39	\$6,062.79	\$79.70	\$4,861.70	\$78.00	\$4,758.00	\$140.00	\$8,540.00	\$302.51	\$18,453.11
28	85	SQYD	GRIND EXIST CONCRETE PAVEMENT	\$150.18	\$12,765.30	\$70.90	\$6,026.50	\$31.00	\$2,635.00	\$39.00	\$3,315.00	\$220.14	\$18,711.90
29	60	LF	8" REINFORCED CONCRETE PIPE (CLASS III)	\$171.79	\$10,307.40	\$60.30	\$3,618.00	\$133.00	\$7,980.00	\$393.00	\$23,580.00	\$422.33	\$25,339.80
30	55	LF	10" REINFORCED CONCRETE PIPE (CLASS III)	\$18.89	\$1,038.95	\$69.80	\$3,839.00	\$138.00	\$7,590.00	\$345.00	\$18,975.00	\$452.63	\$24,894.65
31	387	LF	15" REINFORCED CONCRETE PIPE (CLASS III, RUBBER GASKET JOINT)	\$141.17	\$54,632.79	\$123.00	\$47,601.00	\$153.00	\$59,211.00	\$136.00	\$52,632.00	\$153.68	\$59,474.16
32	1,180	LF	18" REINFORCED CONCRETE PIPE (CLASS III, RUBBER GASKET JOINT)	\$117.51	\$138,661.80	\$129.00	\$152,220.00	\$116.00	\$136,880.00	\$140.00	\$165,200.00	\$161.95	\$191,101.00
33	910	LF	24" REINFORCED CONCRETE PIPE (CLASS III, RUBBER GASKET JOINT)	\$130.14	\$118,427.40	\$149.60	\$136,136.00	\$137.00	\$124,670.00	\$145.00	\$131,950.00	\$196.98	\$179,251.80
34	769	LF	30" REINFORCED CONCRETE PIPE (CLASS III, RUBBER GASKET JOINT)	\$155.41	\$119,510.29	\$208.80	\$160,567.20	\$184.00	\$141,496.00	\$185.00	\$142,265.00	\$247.00	\$189,943.00
35	1	EA	ALTERATIVE FLARED END SECTION	\$3,350.92	\$3,350.92	\$1,848.90	\$1,848.90	\$3,000.00	\$3,000.00	\$2,200.00	\$2,200.00	\$12,840.24	\$12,840.24
36	1	EA	30" ALTERNATIVE FLARED END SECTION	\$3,960.18	\$3,960.18	\$4,039.20	\$4,039.20	\$5,200.00	\$5,200.00	\$2,800.00	\$2,800.00	\$133,316.91	\$133,316.91
37	13	EA	60" MANHOLE (TYPE A)	\$6,443.63	\$83,767.19	\$9,522.70	\$123,795.10	\$13,600.00	\$176,800.00	\$12,500.00	\$162,500.00	\$14,135.69	\$183,763.97
38	1	EA	AREA DRAIN	\$4,114.07	\$4,114.07	\$2,267.10	\$2,267.10	\$3,300.00	\$3,300.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00
39	8	EA	INLET (TYPE D)	\$1,514.70	\$12,117.60	\$9,222.60	\$73,780.80	\$8,000.00	\$64,000.00	\$6,300.00	\$50,400.00	\$7,809.00	\$62,472.00
40	2	EA	INLET (TYPE E) WITH SLOTTED GRATE	\$4,438.42	\$8,876.84	\$9,015.10	\$18,030.20	\$6,200.00	\$12,400.00	\$6,300.00	\$12,600.00	\$3,747.50	\$7,495.00
41	19	EA	ADJUST FRAME AND COVER TO GRADE	\$57.37	\$1,090.03	\$1,790.30	\$34,015.70	\$1,000.00	\$19,000.00	\$930.00	\$17,670.00	\$395.00	\$7,505.00
42	722	LF	REMOVE PIPE	\$37.09	\$26,778.98	\$47.90	\$34,583.80	\$62.00	\$44,764.00	\$71.00	\$51,262.00	\$75.00	\$54,150.00
43	13	EA	REMOVE INLET	\$1,952.52	\$25,382.76	\$2,304.00	\$29,952.00	\$5,200.00	\$67,600.00	\$1,500.00	\$19,500.00	\$2,767.30	\$35,974.90
44	10	EA	ADJUST MANHOLE TO GRADE	\$1,500.00	\$15,000.00	\$1,790.30	\$17,903.00	\$1,100.00	\$11,000.00	\$1,280.00	\$12,800.00	\$750.00	\$7,500.00
45	113	LF	MINOR CONCRETE (CURB) (LF)	\$117.69	\$13,298.97	\$31.80	\$3,593.40	\$50.00	\$5,650.00	\$14.00	\$1,582.00	\$245.61	\$27,753.93
46	213	SQFT	DETECTABLE WARNING SURFACE	\$77.80	\$16,571.40	\$53.00	\$11,289.00	\$44.00	\$9,372.00	\$45.00	\$9,585.00	\$186.20	\$39,660.60
47	1,107	LF	MINOR CONCRETE (CURB AND GUTTER)	\$56.56	\$62,611.92	\$63.60	\$70,405.20	\$56.00	\$61,992.00	\$43.00	\$47,601.00	\$64.41	\$71,301.87
48	525	SQFT	MINOR CONCRETE (VALLEY GUTTER)	\$47.62	\$25,000.50	\$25.70	\$13,492.50	\$26.00	\$13,650.00	\$7.00	\$3,675.00	\$69.15	\$36,303.75
49	333	SQFT	MINOR CONCRETE (SIDEWALK)	\$84.88	\$28,265.04	\$13.70	\$4,562.10	\$15.00	\$4,995.00	\$12.00	\$3,996.00	\$92.38	\$30,762.54
50	572	SQFT	MINOR CONCRETE (CURB RAMP)	\$79.91	\$45,708.52	\$86.70	\$49,592.40	\$17.00	\$9,724.00	\$12.00	\$6,864.00	\$60.97	\$34,874.84
51	1,260	LF	CHAIN LINK FENCE (TYPE CL-6)	\$34.05	\$42,903.00	\$48.30	\$60,858.00	\$25.00	\$31,500.00	\$24.00	\$30,240.00	\$49.02	\$61,765.20
52	2	EA	10' CHAIN LINK GATE (TYPE CL-6)	\$3,130.50	\$6,261.00	\$2,738.50	\$5,477.00	\$5,400.00	\$10,800.00	\$5,000.00	\$10,000.00	\$4,680.00	\$9,360.00
53	1,085	LF	REMOVE FENCE	\$10.24	\$11,110.40	\$12.70	\$13,779.50	\$4.00	\$4,340.00	\$3.50	\$3,797.50	\$6.45	\$6,998.25
54	500	EA	PAVEMENT MARKER (RETROREFLECTIVE)	\$5.00	\$2,500.00	\$5.50	\$2,750.00	\$5.00	\$2,500.00	\$5.00	\$2,500.00	\$25.00	\$12,500.00
55	8	EA	OBJECT MARKER (TYPE L-1)	\$150.00	\$1,200.00	\$131.50	\$1,052.00	\$150.00	\$1,200.00	\$120.00	\$960.00	\$150.00	\$1,200.00
56	1	EA	SALVAGE ROADSIDE SIGN	\$500.00	\$500.00	\$500.00	\$500.00	\$150.00	\$150.00	\$100.00	\$100.00	\$1,500.00	\$1,500.00
57	15	EA	ROADSIDE SIGN - ONE POST	\$700.00	\$10,500.00	\$602.50	\$9,037.50	\$700.00	\$10,500.00	\$550.00	\$8,250.00	\$700.00	\$10,500.00
58	44	LF	THERMOPLASTIC TRAFFIC STRIPE (DETAIL 21)	\$3.00	\$132.00	\$2.20	\$96.80	\$3.00	\$132.00	\$2.00	\$88.00	\$3.00	\$132.00
59	5,109	LF	THERMOPLASTIC TRAFFIC STRIPE (DETAIL 22)	\$4.00	\$20,436.00	\$3.30	\$16,859.70	\$4.00	\$20,436.00	\$3.00	\$15,327.00	\$5.96	\$30,449.64
60	7,036	LF	THERMOPLASTIC TRAFFIC STRIPE (DETAIL 27B)	\$1.00	\$7,036.00	\$1.10	\$7,739.60	\$1.00	\$7,036.00	\$1.00	\$7,036.00	\$2.42	\$17,027.12
61	952	LF	THERMOPLASTIC TRAFFIC STRIPE (DETAIL 29)	\$5.00	\$4,760.00	\$4.40	\$4,188.80	\$5.00	\$4,760.00	\$4.00	\$3,808.00	\$15.50	\$14,756.00
62	3,504	LF	THERMOPLASTIC TRAFFIC STRIPE (DETAIL 32)	\$5.00	\$17,520.00	\$4.40	\$15,417.60	\$5.00	\$17,520.00	\$4.00	\$14,016.00	\$7.85	\$27,506.40
63	535	LF	THERMOPLASTIC TRAFFIC STRIPE (DETAIL 38)	\$2.00	\$1,070.00	\$2.20	\$1,177.00	\$2.00	\$1,070.00	\$2.00	\$1,070.00	\$2.00	\$1,070.00
64	171	SQFT	THERMOPLASTIC PAVEMENT MARKING (LIMIT LINE)	\$8.00	\$1,368.00	\$8.80	\$1,504.80	\$8.00	\$1,368.00	\$8.00	\$1,368.00	\$8.00	\$1,368.00

BASE	BID ITEMS			1	6		7	8	3	!	9	1	0
ITEM NO.	QUANTITY	UNIT OF MEASURE	ITEM DESCRIPTION	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)
65	480	SQFT	THERMOPLASTIC PAVEMENT MARKING (TYPE IV ARROW)	\$10.00	\$4,800.00	\$8.80	\$4,224.00	\$10.00	\$4,800.00	\$8.00	\$3,840.00	\$30.83	\$14,798.40
66	236	SQFT	THERMOPLASTIC PAVEMENT MARKING (ENHANCED WET NIGHT VISIBILITY)	\$12.00	\$2,832.00	\$11.00	\$2,596.00	\$12.00	\$2,832.00	\$10.00	\$2,360.00	\$18.89	\$4,458.04
67	918	SQFT	THERMOPLASTIC CROSSWALK AND PAVEMENT MARKING	\$8.00	\$7,344.00	\$8.80	\$8,078.40	\$8.00	\$7,344.00	\$8.00	\$7,344.00	\$8.00	\$7,344.00
68	12,219	LF	PAINT TRAFFIC STRIPE (2-COAT) (DETAIL 39)	\$0.75	\$9,164.25	\$0.60	\$7,331.40	\$1.00	\$12,219.00	\$0.50	\$6,109.50	\$1.57	\$19,183.83
69	1,367	LF	PAINT TRAFFIC STRIPE (2-COAT) (DETAIL 39A)	\$0.75	\$1,025.25	\$0.60	\$820.20	\$1.00	\$1,367.00	\$0.50	\$683.50	\$8.06	\$11,018.02
70	77	SQFT	PAINT PAVEMENT MARKING (2-COAT) (BIKE LANE ARROW)	\$8.00	\$616.00	\$11.00	\$847.00	\$8.00	\$616.00	\$10.00	\$770.00	\$8.00	\$616.00
71	154	SQFT	PAINT PAVEMENT MARKING (2-COAT) (BIKE LANE SYMBOL WITH PERSON)	\$8.00	\$1,232.00	\$11.00	\$1,694.00	\$8.00	\$1,232.00	\$10.00	\$1,540.00	\$8.00	\$1,232.00
72	40	SQFT	PAINT CURB RED (2-COAT)	\$5.00	\$200.00	\$27.40	\$1,096.00	\$5.00	\$200.00	\$25.00	\$1,000.00	\$5.00	\$200.00
73	792	SQFT	THERMOPLASTIC CROSSWALK AND PAVEMENT MARKING (ENHANCED WET NIGHT VISIBILITY)	\$10.00	\$7,920.00	\$11.00	\$8,712.00	\$10.00	\$7,920.00	\$10.00	\$7,920.00	\$22.63	\$17,922.96
74	396	SQFT	REMOVE PAVEMENT MARKING	\$13.00	\$5,148.00	\$21.90	\$8,672.40	\$13.00	\$5,148.00	\$20.00	\$7,920.00	\$13.00	\$5,148.00
75	1	LS	MOBILIZATION	\$503,247.00	\$503,247.00	\$46,396.60	\$46,396.60	\$298,000.00	\$298,000.00	\$290,000.00	\$290,000.00	\$250,000.00	\$250,000.00
76	35	TON	TACK COAT	\$1,212.00	\$42,420.00	\$2,590.40	\$90,664.00	\$100.00	\$3,500.00	\$1,000.00	\$35,000.00	\$452.28	\$15,829.80
77	3,300	LF	TEMPORARY TRENCH RESURFACING – STORM DRAIN	\$18.25	\$60,225.00	\$28.80	\$95,040.00	\$17.00	\$56,100.00	\$25.00	\$82,500.00	\$7.57	\$24,981.00
		TOTAL BA	ASE BID ITEMS (ITEMS 1-77)	\$5,138,828.87		\$5,245	,567.89	\$5,430,482.00		\$5,855	,780.69	\$6,141,625.03	
ITEM NO.	ESTIMATED QUANTITY	UNIT OF MEASURE	ITEM DESCRIPTION	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)
78	887	SQFT	REMOVE CONCRETE	\$21.18	\$18,786.66	\$3.90	\$3,459.30	\$3.00	\$2,661.00	\$3.00	\$2,661.00	\$9.43	\$8,364.41
79	232	LF	REMOVE CONCRETE (CURB AND GUTTER)	\$43.15	\$10,010.80	\$11.70	\$2,714.40	\$10.00	\$2,320.00	\$4.00	\$928.00	\$15.99	\$3,709.68
80	90	LF	PLACE HMA 0.5 FEET THICK X 1 FOOT WIDE	\$56.61	\$5,094.90	\$14.00	\$1,260.00	\$17.00	\$1,530.00	\$17.00	\$1,530.00	\$92.00	\$8,280.00
81	38	SQFT	DETECTABLE WARNING SURFACE	\$77.80	\$2,956.40	\$66.00	\$2,508.00	\$37.00	\$1,406.00	\$40.00	\$1,520.00	\$66.85	\$2,540.30
82	178	LF	MINOR CONCRETE (CURB AND GUTTER)	\$56.56	\$10,067.68	\$63.60	\$11,320.80	\$65.00	\$11,570.00	\$45.00	\$8,010.00	\$61.56	\$10,957.68
83	494	SQFT	MINOR CONCRETE (VALLEY GUTTER)	\$47.62	\$23,524.28	\$30.40	\$15,017.60	\$25.00	\$12,350.00	\$7.00 \$3,458.00		\$21.63	\$10,685.22
84	1,080	SQFT	MINOR CONCRETE (SIDEWALK)	\$84.88	\$91,670.40	\$14.00	\$15,120.00	\$13.00	\$14,040.00	\$10.00 \$10,800.00		\$8.84	\$9,547.20
85	165	SQFT	MINOR CONCRETE (CURB RAMP)	\$79.91	\$13,185.15	\$50.30	\$8,299.50	\$20.00	\$3,300.00	\$10.00	\$1,650.00	\$30.26	\$4,992.90
86	35	SQFT	THERMOPLASTIC PAVEMENT MARKING (LIMIT LINE)	\$280.00	\$9,800.00	\$21.90	\$766.50	\$8.00	\$280.00	\$20.00	\$700.00	\$8.00	\$280.00
87	1	LS	REMOVE FLASHING BEACON	\$5,928.00	\$5,928.00	\$5,580.40	\$5,580.40	\$6,000.00	\$6,000.00	\$5,900.00	\$5,900.00	\$7,500.00	\$7,500.00
88	1	LS	TRAFFIC SIGNAL AND LIGHTING (HAWK)	\$233,933.00	\$233,933.00	\$224,920.90	\$224,920.90	\$224,000.00	\$224,000.00	\$219,000.00	\$219,000.00	\$149,384.00	\$149,384.00
			ROAD SIGN - ONE POST	\$700.00	\$2,000,00	\$712.00	\$2,848.00	\$700.00	\$2,800.00	\$650.00	\$2,600.00	\$175.00	\$700.00
89	4	EA	ROAD SIGN - ONE POST	\$700.00	\$2,800.00	Ų. 12.00						-	
90	1	LS	MODIFY EXISTING LANDSCAPING AND IRRIGATION	\$2,500.00	\$2,500.00	\$3,566.00	\$3,566.00	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	\$7,500.00	\$7,500.00
90		LS LS	MODIFY EXISTING LANDSCAPING AND IRRIGATION MOBILIZATION	\$2,500.00 \$16,560.00	\$2,500.00 \$16,560.00	\$3,566.00 \$1,412.00	\$1,412.00	\$5,000.00	\$5,000.00	\$1.00	\$1.00	\$0.00	\$0.00
90		LS LS	MODIFY EXISTING LANDSCAPING AND IRRIGATION MOBILIZATION FEDERAL TRAINEE PROGRAM	\$2,500.00 \$16,560.00 \$1,000.00	\$2,500.00 \$16,560.00 \$1,000.00	\$3,566.00 \$1,412.00 \$85,000.00	\$1,412.00 \$85,000.00	\$5,000.00 \$500.00	\$5,000.00 \$500.00	\$1.00 \$1.00	\$1.00 \$1.00	\$0.00 \$5,000.00	\$0.00 \$5,000.00
90		LS LS	MODIFY EXISTING LANDSCAPING AND IRRIGATION MOBILIZATION	\$2,500.00 \$16,560.00 \$1,000.00	\$2,500.00 \$16,560.00	\$3,566.00 \$1,412.00 \$85,000.00	\$1,412.00	\$5,000.00	\$5,000.00 \$500.00	\$1.00 \$1.00	\$1.00	\$0.00	\$0.00 \$5,000.00
90		LS LS LS TOTAL	MODIFY EXISTING LANDSCAPING AND IRRIGATION MOBILIZATION FEDERAL TRAINEE PROGRAM	\$2,500.00 \$16,560.00 \$1,000.00 \$447,	\$2,500.00 \$16,560.00 \$1,000.00	\$3,566.00 \$1,412.00 \$85,000.00 \$383,	\$1,412.00 \$85,000.00	\$5,000.00 \$500.00	\$5,000.00 \$500.00 257.00	\$1.00 \$1.00 \$260 ,	\$1.00 \$1.00	\$0.00 \$5,000.00	\$0.00 \$5,000.00 141.39